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The memory address of the first element of an array 15 called

T T A

floor address

foundation address

first address

base address
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We want to access array m random order which of the following approach 1s better?

Answer ( Please select your correct option )

Pointers
r

COrec!

Array ndex

Both pomters and array index are better
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The structure 1= & muliple-selechon construct which malees the code more efficient and easy to read and understand

{Answer | Please select your correct option )

mltiple-if

-

switch

if-elze

else-if
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Whach of the following 15 not a reserved word m C/C+H?

{Answer | Please select your correct option )

it
!
foat
.
double
o
ST
;
correct
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To access rand(), which kbrary 15 required to be mcluded in program 7

{Answer | Please select your correct option )

conio.h
[
stdio.h
c
stdlib.h
2 COFFRGI
iostream.h
's
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mt arr[4]

What 15 the highest legal index for the followng array?

Answer ( Please select your correct option )

(-

4
3

COrmecit
2
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When an array element 12 paszed to a function, 112 paszed by

Answer ( Please select your correct option )

reference
O

data tvpe

value

data
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While programmng, it 18 good to prowide an easy to understand and easy to use interface; this programmung slall iz called

|{Answer | Please select your correct option )

scalability
-

usabiity

COTeCH

rehability

sustamability
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Word processor is a type of afan

Answer ( Please select your correct option )

operating system
C
application software
g COITec
device drver
Lo
utility software
B
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“while' loop may execute O more tmes.

{Answer | Please select your correct option )

three

-

EETOD

one

10
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The keyword 1z used to get some value baclk from a function.

|{Answer | Please select your correct option )

retumnm
[
OIFECL
breal:
I
conbinue
[
goto
)

11
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Identfy the cotrect option which 1s used for calling the function float area (int).

Answer ( Please select your correct option )

area{&num) ;
(@

area(num) |

area(int num) ;

area(*num) ;

12
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The staternent allows us to select from multiple choices based on a set of fized values for a given expression.

Answer ( Please select your correct option )

switch
r

COrecCI

break

continue

goto

13
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i 1z wndely known as development language of operatmng system

Answer ( Please select your correct option )

Windows
[

OIMme

bac OF

Lz

14
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To convert the value of one type mto another type using budt-in functions, we mclude header file

Answer ( Please select your correct option )

comuoh

i

stdlib b

wstream b

sting h

15
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Syntax of a union 15 :dentical to

r ( Please select your correct option )

structure
(@
COTreG
class
p
function
o
loop
=

16
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The function seekg() takes parameter(s).

Answer ( Please select your correct option )

) COrrec

17



Remove Watermark Now

|Question No : 18 of 26

The function write() takes as parameter(s),

|{Answer | Please select your correct option )

String of pointer type
I

String of wanable lengths, no. of bytes to be read and flags

Pointer array of characters and a delimiter

String and no. of bytes to be wntten

18
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“When the logical operator AND (&8) combines two expressions exp ] and expZ then the result will be true only _

|{Answer | Please select your correct option )

When both expl and exp2 are true
(&

COrrect

When both expl and exp?2 are false

When exp1 15 true and exp2 15 false

When exp] iz false and exp2 15 true

19
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Hull character 1s used to mdicate the of stnng,

|Answer | Please select your correct option )

Start

-

End

Eeqin

Middle
~

2 marks

E{:luesﬂnnrln:zlo!ﬁ

A two-dimensional array has 3 rows and 4 colurmns, Write down the syntas to inttalize first element of all three rows of two-dimensional array with value 2,

2 marks

Question No : 22 of 26

Identify any logical or syntax error in the statement below and explan the reason of the etror.

seekg (-10L, ios.beg),

20
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|Question No : 23 of 26

Using the given array declaration:

mtar[] =(1,23,4,567 8, 9),
mt* arr_ptr = arr;

Find out the value of each of the expressions below.

on No : 23 of 26

OIL" &II L = il
Find out the walue of each of the expressions below.
1, *arr ptr+4)

2. (*arr pirt+
3. Marr_ptrtt)

3 marks

Question No : 24 of 26 - -

If you are provided two methods for accessing a file; random and sequential Which method will you prefer and why?

5 marks

Question No : 25 of 26

Following are two programming statements; vou have to wnte down the functionality of each statement?

1) mt *const intPtr = &=,
2) const int *ntPtr = & |

21
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mt main()
(
ofstream outfile;
long posttion;,

Find out errors m the program if any and after correction, wnte the output.

Mo : 26 of 26

I0ng posIon,
char outfilename[] = “abc ™,
outfile. openfoutfilename),
1ff loutfile)

{

cout<<” Ervor Occured wiule opening a file™;

outoimom [ G CT L

e e e )

exit(1),

1

outfile, write("This 1s a car”, 12);
position = outfile, tellp();

outfile. seekp(position-5),
outfile. write("jar", 3),

No : 26 of 26

PUSILIUTL = UULLLE, WEUR, J,
outfile seekpiposition-5);
outfile write("jar", 3);
outfile close(),

return 0;

i
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